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Linear Equations In Two Variables

1. The cost of a note book is twice the cost of a
pen. Write a linear equation in two variables

to represent this statement.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_xK52LNSKbNUw

° Watch Video Solution

2. Express the following linear equation in the
form ax + by + ¢ = 0 and indicate the values of

a, b and c in each case. 2z + 3y = 9.35.

° Watch Video Solution

3. Express the following linear equation in the
form ax + by + ¢ = 0 and indicate the values of

a,b and c in each case. x — % —10=0

| e |


https://dl.doubtnut.com/l/_xK52LNSKbNUw
https://dl.doubtnut.com/l/_sqV8ugUmwObc
https://dl.doubtnut.com/l/_buicDuIaALOL

& Watch Video Solution I

4. Express the following linear equation in the
form ax + by + ¢ = 0 and indicate the values of

a,b and cin each case. —2x + 3y = 6.

° Watch Video Solution

5. Express the following linear equation in the
form ax + by + ¢ = 0 and indicate the values of

a, b and cin each case. x = 3y.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_buicDuIaALOL
https://dl.doubtnut.com/l/_k9GnMloYobXW
https://dl.doubtnut.com/l/_56NxjwoUvqR2

6. Express the following linear equation in the
form ax + by + ¢ = 0 and indicate the values of

a,b and cin each case. 2x = — 5.

° Watch Video Solution

7. Express the following linear equation in the
form ax + by + ¢ = 0 and indicate the values of

a,b and cin each case. 3z + 2 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_56NxjwoUvqR2
https://dl.doubtnut.com/l/_frzidGdD7lXr
https://dl.doubtnut.com/l/_E9F4ap6dm4Ym

8. Express the following linear equation in the
form ax + by + ¢ = 0 and indicate the values of

a,bandcineachcase.y — 2 = 0.

° Watch Video Solution

9. Express the following linear equation in the
form ax + by + ¢ = 0 and indicate the values of

a, b and cin each case. 5 = 2x.

° Watch Video Solution



https://dl.doubtnut.com/l/_E9F4ap6dm4Ym
https://dl.doubtnut.com/l/_jPFxBcKj9ev9
https://dl.doubtnut.com/l/_YWKPXMFK19at

10. Write the following equation in the form ax
+ by + ¢ = 0 and indicate the values of a,b an c

in the case: 2z + 3y = 4.

° Watch Video Solution

11. Write the following equation in the form ax
+ by + ¢ = 0 and indicate the values of a,b an c

inthecase: z — 4 = 3y.

° Watch Video Solution



https://dl.doubtnut.com/l/_YWKPXMFK19at
https://dl.doubtnut.com/l/_F6KgDKWWqFKL
https://dl.doubtnut.com/l/_JavwGAXEe2Z7

12. Write the following equation in the form ax
+ by + ¢ = 0 and indicate the values of a,b an c

in the case: 6 = 5x — 3.

o Watch Video Solution

13. Write the following equation in the form ax
+ by + ¢ = 0 and indicate the values of a, b and

cin thecase: 2z = y.

o Watch Video Solution



https://dl.doubtnut.com/l/_gd4uxYolgF2Z
https://dl.doubtnut.com/l/_72768roddEni
https://dl.doubtnut.com/l/_SrEIFn1e4luZ

14. Write the following equation in the form ax
+ by + ¢ = 0 and indicate the values of a, b and

cin the case: by = x.

o Watch Video Solution

15. Write the following equation in the form ax

+ by + ¢ = 0 and indicate the values of a,b an ¢

inthecase:E = 2Jr7.

3 5}

o Watch Video Solution



https://dl.doubtnut.com/l/_SrEIFn1e4luZ
https://dl.doubtnut.com/l/_iD9MjEmRPTgd
https://dl.doubtnut.com/l/_YpYwcWQqkAOk

16. Write the following equation in two

variables : £ = — b.

° Watch Video Solution

17. Write the following equation in two

variables : y = 2.

o Watch Video Solution

18. Write the following equation in two

variables : 2x = 3.


https://dl.doubtnut.com/l/_YpYwcWQqkAOk
https://dl.doubtnut.com/l/_nMrrU9tUsaxe
https://dl.doubtnut.com/l/_W8wzIPuXhA25

° Watch Video Solution

19. Write the following equation in two

variables : 5y = 2.

o Watch Video Solution

20. Write the following equation in two

variables: —3y = 7.

° Watch Video Solution



https://dl.doubtnut.com/l/_W8wzIPuXhA25
https://dl.doubtnut.com/l/_iFNXc2nUOp7m
https://dl.doubtnut.com/l/_ZsjDUW1A9XzX
https://dl.doubtnut.com/l/_2tObiFLOve5Q

21. Write the following equation in two

variables : — 3z = 1.

o Watch Video Solution

22. In One Day International cricket match
between India and South Africa played in
Kolkata, two Indian batsmen Rahul and Sourav
together scored, 185 runs. Express this
information in the form of an equation. (Take
runs scored by Rahul as x and runs scored by

Sourav as y).


https://dl.doubtnut.com/l/_2tObiFLOve5Q
https://dl.doubtnut.com/l/_lAGWmohwqqN9

° Watch Video Solution

23. Which one of the following option is true

and why ? y = 3z 4+ 5 has

A. (1) a unique solution

B. (ii) only two solutions

C. (iii) infinitely many solutions.

Answer:



https://dl.doubtnut.com/l/_lAGWmohwqqN9
https://dl.doubtnut.com/l/_OIFjoo59dA0L

24. Write four solutions for the following

equation: 2z +y = 7.

° Watch Video Solution

25. Write four solutions for the following

equation: mx +y = 9.

o Watch Video Solution



https://dl.doubtnut.com/l/_OIFjoo59dA0L
https://dl.doubtnut.com/l/_RWtGRGEeGS9K
https://dl.doubtnut.com/l/_V3tUriyo1AJY

26. Write four solutions for the following

equation: z = 4y.

o Watch Video Solution

27. Check the following is solution of the

equation x — 2y = 4 or not. (0, 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_ZAS4LebK7mgy
https://dl.doubtnut.com/l/_ZfTamrVWkASf

28. Check the following is solution of the

equation x — 2y = 4 or not. (2, 0)

o Watch Video Solution

29. Check the following is solution of the

equation x — 2y = 4 or not. (4, 0)

o Watch Video Solution



https://dl.doubtnut.com/l/_ykI41KmScRM9
https://dl.doubtnut.com/l/_Qj2hkmMRZm55

30. Check the following is solution of the

equation z — 2y = 4 or not. (1/2, 41/2)

o Watch Video Solution

31. Check the following is solution of the

equation x — 2y = 4 or not. (1, 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_3Q617ZmvdFOb
https://dl.doubtnut.com/l/_S7Em1mS5HZFv

32.Find the value of k if x =2,y =1is a solution

of the equation 2x + 3y = k.

o Watch Video Solution

33. Find two solutions for the following

equation : 2x + 3y =12.

o Watch Video Solution



https://dl.doubtnut.com/l/_DoRFrgAGaiMs
https://dl.doubtnut.com/l/_zd7CyaTFJVoa

34. Find two solutions for the following

equation : 2x + 5=0.

o Watch Video Solution

35. Find two solutions for the following

equation : 3y +4 =0.

o Watch Video Solution



https://dl.doubtnut.com/l/_i8g8BXKCnoPp
https://dl.doubtnut.com/l/_KIFRA6rBaKS2

36. Find two solutions for the following

equation : 4x -y =09.

o Watch Video Solution

37. Find at least four solutions for the given

equations: 5x + 7y = 12.

o Watch Video Solution



https://dl.doubtnut.com/l/_BDv95noZcd9T
https://dl.doubtnut.com/l/_xzSkxW635qL4

38. Find at least four solutions for the given

equations: 4x + 3y = 13.

o Watch Video Solution

39. Find at least four solutions for the given

equations: x + 2y = 6.

o Watch Video Solution



https://dl.doubtnut.com/l/_saYuLSN9Ewvb
https://dl.doubtnut.com/l/_BqMn3eEFJOES

40. Find at least four solutions for the given

equations: —3x +y = 7.

° Watch Video Solution

41. Find the value of a so that the following
equation may have x = —4 and y=1 as a

solution. — bz + 2ay = — 8.

° Watch Video Solution



https://dl.doubtnut.com/l/_783Q79aEGRD4
https://dl.doubtnut.com/l/_OtLJeJqZqe6u

42. Find the value of a so that the following
equation may have x = —4 and y=1 as a

solution. —5x + 2ay = — 8.

o Watch Video Solution

43. Find the value of a so that the following
equation may have x = —4 and y=1 as a

solution. 3ax — Ty = 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_2eXXjPiZxGUJ
https://dl.doubtnut.com/l/_HjlaBY7LjlcR
https://dl.doubtnut.com/l/_GdDFtiSiu2Gn

44, Find the solutions of form £ =a,y =0
and £ = 0,y = b for the following pairs of
equations. Do they have any common such

solution ? 7x + 3y = 42 and 2z + 5y = 12.

o Watch Video Solution

45, Find the solutions of form z = a,y =0
and x = 0,y = b for the following pairs of
equations. Do they have any common such

solution ? 2z 4+ 9y = 18 and 3z — 4y = 24.

o Watch Video Solution



https://dl.doubtnut.com/l/_GdDFtiSiu2Gn
https://dl.doubtnut.com/l/_jPg6F11VI3gH

46. If the point (3, 4) lies on the graph of the

equation 3y = ax + 7, Find the value of a.

o Watch Video Solution

47.The taxi fare in a city is as follows : For the
first kilometre, the fare is Rs.8 and for the
subsequent distance it is Rs.5 per kilometre.

Taking the distance covered as x km and total


https://dl.doubtnut.com/l/_jPg6F11VI3gH
https://dl.doubtnut.com/l/_7ZCdBKerTEQw
https://dl.doubtnut.com/l/_xOf7B3TCydIG

fare as Rs.y, write a linear equation for this

information and draw its graph.

° Watch Video Solution

48. Draw the graph of x + 2y = 6.

° Watch Video Solution

49, Draw the graph of z + y = 1.

° Watch Video Solution



https://dl.doubtnut.com/l/_xOf7B3TCydIG
https://dl.doubtnut.com/l/_ASLP7CfUcQvF
https://dl.doubtnut.com/l/_FsQI9HArvUoR

50. As you know that acceleration produced in
a body is directly proportional to the applied
force. Express the given situation in the form
of a equation and draw the graph of the

equation.

o Watch Video Solution

51. Choose the correct equation from the

choices given for the following graph :

L

L,


https://dl.doubtnut.com/l/_ecuN4IkzNkJw
https://dl.doubtnut.com/l/_UWr4HR3sSnUg

A x+y=0

B.y=2x

Cy==x

D.y = 3z
Answer:

° Watch Video Solution

52. Choose the correct equation from the

choices given for the following graph :

P


https://dl.doubtnut.com/l/_UWr4HR3sSnUg
https://dl.doubtnut.com/l/_nQ76HGmlfWFM

A x+y=0

B.y=2x

Cy=2x+14

D.y=a — 4.
Answer:

° Watch Video Solution

53. Choose the correct equation from the

choices given for the following graph :


https://dl.doubtnut.com/l/_nQ76HGmlfWFM
https://dl.doubtnut.com/l/_gJzlu2nwJfDT

A x+y=0

B.y=2x

Cy=2z+1

D.y = 2z — 4.


https://dl.doubtnut.com/l/_gJzlu2nwJfDT

Answer:

o Watch Video Solution

54. Give the geometric representation of y = 3

as an equation in one variable.

° Watch Video Solution

55. Give the geometric representation of y = 3

as an equation in two variables.

| 8 l


https://dl.doubtnut.com/l/_gJzlu2nwJfDT
https://dl.doubtnut.com/l/_F0VNzP2hMEdJ
https://dl.doubtnut.com/l/_OlG97KEdDnuk

56. Give the geometric representation of

2z + 9 = 0 as an equation in one variable.

° Watch Video Solution

57. Give the geometric representation of

2z + 9 = 0 as an equation in two variable.

o Watch Video Solution



https://dl.doubtnut.com/l/_OlG97KEdDnuk
https://dl.doubtnut.com/l/_TInhvh9f5cc8
https://dl.doubtnut.com/l/_Ucxhd5ut0JlL

58. Express Y = — 4 graphically in terms of

one variable.

o Watch Video Solution

59. Express Y = — 4 graphically in terms of

one variable.

o Watch Video Solution



https://dl.doubtnut.com/l/_zXbzjWTOclFY
https://dl.doubtnut.com/l/_zZugcB9bghKs

60. Solve 2z +1 =2 —3 and express it

graphically in terms of one variable.

o Watch Video Solution

61. Solve 2x +1 =2 —3 and express it

graphically in terms of two variable.

o Watch Video Solution



https://dl.doubtnut.com/l/_KsPjKfLZiJdk
https://dl.doubtnut.com/l/_dC87WoMaRFSb

62. The solution of the equation z — 2y =4 is

A. (0, 2)

B. (4,0)

C.(1,1)

D. (2, 0).

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_w8B4BXbWKQWP
https://dl.doubtnut.com/l/_dX5dirk5eDZ6

63. In graphical representation of y = — 4,

lineis :

A. Parallel to x-axis

B. Parallel to y-axis

C. Passes through origin

D. None.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_dX5dirk5eDZ6

64.Solution of equation2x +1 =2 + 3 is:

A3

B.4

C.2

D. 1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_7Kb2yivG83SZ

65. The graph of line =z —y =0 passes

through :

A (2,3)

B. (3, 4)

C.(5,6)

D. (O, 0).

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_VVxZfRBmh212
https://dl.doubtnut.com/l/_LDNP6SpaajvZ

66. The graph of line £ + y = 7 intersect the

x-axis at :

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_LDNP6SpaajvZ

67. Point (4, 1) lies on the line:

Ax+2y=>5

B.x +2y= —6

Cx+2y==6

D.z + 2y = 16.
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_xDl5NQntghU2

68. Graph of x = 2is aline:

A. Parallel to x-axis

B. Parallel to y-axis

C. Passes through origin

D. None.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_vgcrMdkS5uju

69. The linear equation 2z — 5y = 7 has

A. A unique solution

B. Two solutions

C. Infinitely many solutions

D. No solution.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_iIi6jLyzEdw4

70. The equation 2z + by = 7 has a unique

solution, if x,y are :

A. Natural numbers

B. Positive real numbers

C. Real numbers

D. Rational numbers.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_RI0ZetcKvI0z
https://dl.doubtnut.com/l/_ipUK3WwMDo7X

71.1f (2, 0) is a solution of the linear equation

2x + 3y =k, then the value of k is

A4

B.6

C.5

D. 2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ipUK3WwMDo7X

72. Any solution of the linear equation
2r + 0y 4+ 9 =0 in two variables is of the

form

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_l9LnvzRRMKKU

73.The graph of the linear equation 2x + 3y =6

cuts the y-axis at the point

A.(2,0)

B. (0, 3)

C.(3,0)

D. (O, 2).

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ciADrravtnRo
https://dl.doubtnut.com/l/_JfiRbKNvSJ6I

74.The equation x = 7, in two variables, can be

written as

Al-z+1-y=7

B.l-z+0-y=7

CO-xz+1-y=7

DO-z+0-y=T.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_JfiRbKNvSJ6I

75. Any point on the x-axis is of the form

A. (%)

B.(0,y)

C. (x,0)

D. (x, X).

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Gar4jQYEYygn

76. Any point on the line y = x is of the form

A. (a, a)

B. (0, a)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_3pPuY3wtY5zZ

77. The equation of x-axis is of the form

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_XWU8Wo4uhaif

78.The graph of y=61is a line

A. parallel to x-axis at a distance 6 units

from the origin

B. parallel to y-axis at a distance 6 units

from the origin

C. making an intercept 6 on the x-axis

D. making an intercept 6 on both the axes.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_EH8gFW27U9C1

79. x = 5,y = 2 is a solutioin of the linear

equatioin

Ax+2y=717

B.5z 4+ 2y =17

Cx+y=7

D.5z +y = T.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_EH8gFW27U9C1
https://dl.doubtnut.com/l/_n7sCDOERbaDb

80. If a linear equation has solutions
(—2,2),(0,0) and (2, — 2), then it is of the
form

Ay—x =0

B.x +y =20

C-2zx+y=0

D.—x + 2y = 0.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Sr24WyhlewsI

81. The positive solutions of the equation is

ax + by + ¢ = 0 always lie in the

A. 1st quadrant

B. 2nd quadrant

C. 3rd quadrant

D. 4th quadrant.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Uk0EAe6JJO3G
https://dl.doubtnut.com/l/_xbKd60V5Yjo1

82. The graph of the linear equation
2z + 3y = 6 is a line which meets the x-axis at
the point

A. (0, 2)

B.(2,0)

C.(3,0)

D. (O, 3).

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_xbKd60V5Yjo1
https://dl.doubtnut.com/l/_Tpqifsma806u

8. The graph of the linear equation y = x

passes through the point

(3)
(0

C.(1,1)
5 -1 1
'(T’?)'

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Tpqifsma806u

84. If we multiply or divide both sides of a

linear equation with a non-zero number, then

the solution of the linear equation :

A. Changes

B. Remains the same

C. Changes multiplication only

D. Changes in case of division only.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_NX3gpfvJZ1QW

85. How many linear equationsin x and y can

be satisfled byx=1Tandy=27?

A.Only one

B. Two

C. Infinitely many

D. Three.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_7ZLD63eR2lb6
https://dl.doubtnut.com/l/_f6jPav0kHiJz

86. The point of the form (a, a) always lies on :

A. X-axis

B. y-axis

C. On the line y=x

D. On the line x+y = 0.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_f6jPav0kHiJz

87. The point of form (a, — a) always lies on

the line
Ax =a
By= —a
Cy==z
Dz +y=0
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_JDs6CwPG5F35
https://dl.doubtnut.com/l/_WPltV05O4c3S

88. Write whether the following statement is
True or False ? Justify your answers : The point
(O, 3) lies on the graph of the linear equation

3z + 4y = 12.

o Watch Video Solution

89. Write whether the following statement is
True or False ? Justify your answers : The graph
of the linear equation x + 2y = 7 passes

through the point (0, 7).

o Watch Video Solution



https://dl.doubtnut.com/l/_WPltV05O4c3S
https://dl.doubtnut.com/l/_aaVvcXTjjlgc

90. Write whether the following statement is
True or False ? Justify your answers : The graph

represents the linear equation x + y = 0.



https://dl.doubtnut.com/l/_aaVvcXTjjlgc
https://dl.doubtnut.com/l/_KXWy1roUR945

| ¥ Watch Video Solution J

91. Write whether the following statement is
True or False ? Justify your answers : Every
point on the graph of a linear equation in two
variables does not represent a solution of the

linear equation.

° Watch Video Solution

92. Write whether the following statement is

True or False ? Justify your answers : The graph


https://dl.doubtnut.com/l/_KXWy1roUR945
https://dl.doubtnut.com/l/_icQchNXHYxUi
https://dl.doubtnut.com/l/_AdokqQWiuLMD

of every linear equation in two variables need

not be a line.

° Watch Video Solution



https://dl.doubtnut.com/l/_AdokqQWiuLMD

